

# *Mathematical Journal of Okayama University*

---

*Volume 51, Issue 1*

2009

*Article 8*

---

## SOME IDENTITIES RELATING MOCK THETA FUNCTIONS WHICH ARE DERIVED FROM DENOMINATOR IDENTITY

Yukari Sanada\*

\*Department of Mathematics, Tsuda College

Copyright ©2009 by the authors. *Mathematical Journal of Okayama University* is produced by  
The Berkeley Electronic Press (bepress). <http://escholarship.lib.okayama-u.ac.jp/mjou>

# SOME IDENTITIES RELATING MOCK THETA FUNCTIONS WHICH ARE DERIVED FROM DENOMINATOR IDENTITY

Yukari Sanada

## **Abstract**

We show that there exists a new connection between identities satisfied by mock theta functions and special case of denominator identities for affine Lie superalgebras.

Math. J. Okayama Univ. **51** (2009), 121–131

**SOME IDENTITIES RELATING MOCK THETA  
FUNCTIONS WHICH ARE DERIVED FROM  
DENOMINATOR IDENTITY**

YUKARI SANADA

ABSTRACT. We show that there exists a new connection between identities satisfied by mock theta functions and special case of denominator identities for affine Lie superalgebras.

## 1. INTRODUCTION

In 1920, S. Ramanujan listed 17 mock theta functions of order 3, 5 and 7 together with identities satisfied by them in his last letter to G. H. Hardy. In the letter, he did not describe a formal definition of “order” nor prove these identities. However, for 3rd and 5th order, we can see that each identity consists of mock theta functions with the same order [2], [16]. Ramanujan’s assertion about 7th order mock theta functions is that they are not related to each other. Some identities for order 6, 8 and 10, which also consists of mock theta functions with the same order, were proved by G. E. Andrews, D. Hickerson, B. Gordon, R. J. McIntosh and Y.-S. Choi [3], [5], [6], [9]. In [13], mock theta functions 3rd order  $\chi(q)$  and 6th order  $\gamma(q)$  are related to each other. Recently, K. Bringmann and K. Ono use the theories of modular forms to understand mock theta functions[4].

In this paper, we give a new view of some typical identities satisfied by mock theta functions. It is shown that these identities are obtained by specializing the denominator identities for affine Lie superalgebras in the case  $\widehat{A}(1, 0)$  and  $\widehat{B}(1, 1)$ .

We introduce the standard notation and some mock theta functions which will be used in this paper.

**Definition 1.** Let  $q$  be a complex number such that  $|q| < 1$ . We define the  $q$ -shifted factorial for all integers  $n$  by

$$(a)_\infty = (a; q)_\infty := \prod_{i=0}^{\infty} (1 - aq^i) \quad \text{and} \quad (a)_n = (a; q)_n := \frac{(a; q)_\infty}{(aq^n; q)_\infty}.$$

For brevity, we employ the usual notation

$$(x_1, \dots, x_r)_\infty = (x_1, \dots, x_r; q)_\infty := (x_1)_\infty \cdots (x_r)_\infty.$$

---

*Mathematics Subject Classification.* Primary 00-01; Secondary 68-01.

*Key words and phrases.* Mock theta function, theta function, denominator identity for affine Lie superalgebra.

Moreover, we define

$$j(x, q) := (x, q/x, q)_\infty = (x)_\infty (q/x)_\infty (q)_\infty$$

for all  $x \in \mathbf{C}^*$ .

By Jacobi's triple product identity[1], [8], we have

$$j(x, q) = \sum_{n=-\infty}^{\infty} (-1)^n q^{\frac{n(n-1)}{2}} x^n.$$

**Definition 2.** (mock theta functions of order 3)

$$\begin{aligned} f(q) &:= \sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q)_n^2}, \\ \chi(q) &:= 1 + \sum_{n=1}^{\infty} \frac{q^{n^2}}{\prod_{m=1}^n (1 - q^m + q^{2m})}, \\ \omega(q) &:= \sum_{n=0}^{\infty} \frac{q^{2n(n+1)}}{(q; q^2)_{n+1}^2}, \\ \rho(q) &:= \sum_{n=0}^{\infty} \frac{q^{2n(n+1)}}{\prod_{m=0}^n (1 + q^{2m+1} + q^{4m+2})}. \end{aligned}$$

The following mock theta functions of order 8 are found by B. Gordon and R. J. McIntosh[9].

**Definition 3.** (mock theta functions of order 8)

$$\begin{aligned} U_0(q) &:= \sum_{n=0}^{\infty} \frac{q^{n^2} (-q; q^2)_n}{(-q^4; q^4)_n}, \\ U_1(q) &:= \sum_{n=0}^{\infty} \frac{q^{(n+1)^2} (-q; q^2)_n}{(-q^2; q^4)_{n+1}}, \\ V_1(q) &:= \sum_{n=0}^{\infty} \frac{q^{(n+1)^2} (-q; q^2)_n}{(q; q^2)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^{2n^2+2n+1} (-q^4; q^4)_n}{(q; q^2)_{2n+2}}. \end{aligned}$$

In Section 1, we shall prove a following new identity for 3rd order mock theta functions in Theorem 1.1 and then we shall show that the identity is equal to the special case of type  $\widehat{B}(1, 1)$ .

**Theorem 1.1.** For 3rd order mock theta functions  $\rho(q)$  and  $\omega(q)$ , the following relation holds.

$$(q^2; q^2)_\infty \left( (\rho(q) + \rho(-q)) + \frac{1}{2} (\omega(q) + \omega(-q)) \right) = \frac{3 (q^{12}; q^{12})_\infty (-q^{12}; q^{24})_\infty (-q^{12}; q^{24})_\infty (q^{24}; q^{24})_\infty}{(q^6; q^{12})_\infty}.$$

In Section 2, we shall see that the identity

$$(1.1) \quad (q)_\infty (4\chi(q) - f(q)) = 3 \frac{(q^3; q^3)_\infty^2}{(-q^3; q^3)_\infty^2}$$

is equal to the case of type  $\widehat{A}(1, 0)$ . This identity (1.1) is found in Ramanujan’s last letter. We also see that some identities for mock theta functions are derived from a specialization of the denominator identity.

We give generalized Lambert series for mock theta functions in order to prove these identities satisfied by mock theta functions. By expressing mock theta functions with the generalized Lambert series, we can handle the mock theta functions more easily. The following generalized Lambert series for 3rd order mock theta functions are obtained by G. N. Watson[16].

$$(1.2) \quad (q)_\infty f(q) = 1 + 4 \sum_{n=1}^{\infty} \frac{(-1)^n q^{n(3n+1)/2}}{1 + q^n},$$

$$(1.3) \quad (q)_\infty \chi(q) = 1 + \sum_{n=1}^{\infty} \frac{(-1)^n (1 + q^n) q^{n(3n+1)/2}}{1 - q^n + q^{2n}},$$

$$(1.4) \quad (q^2; q^2)_\infty \omega(q) = \sum_{n=0}^{\infty} \frac{(-1)^n (1 + q^{2n+1}) q^{3n(n+1)}}{1 - q^{2n+1}},$$

$$(1.5) \quad (q^2; q^2)_\infty \rho(q) = \sum_{n=0}^{\infty} \frac{(-1)^n (1 - q^{4n+2}) q^{3n(n+1)}}{1 + q^{2n+1} + q^{4n+2}}.$$

The following generalized Lambert series for 8th order mock theta functions are obtained by B. Gordon and R. J. McIntosh[9].

$$(1.6) \quad U_0(q) = 2 \frac{(-q; q^2)_\infty}{(q^2; q^2)_\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(2n+1)}}{1 + q^{4n}},$$

$$(1.7) \quad U_1(q) = \frac{(-q; q^2)_\infty}{(q^2; q^2)_\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{(n+1)(2n+1)}}{1 + q^{4n+2}},$$

$$(1.8) \quad V_1(q) = \frac{(-q^4; q^4)_\infty}{(q^4; q^4)_\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{(2n+1)^2}}{1 - q^{4n+1}}.$$

We close this section by preparation of two identities as a special case of denominator identity for affine Lie superalgebras. We quote the denominator identity for affine Lie superalgebras which was discovered by V. G. Kac and M. Wakimoto [10], [15]. The identity is written in the following form

$$\frac{\prod_{\alpha \in \Delta_{\text{even}}^+} (1 - e^{-\alpha})^{\text{mult}(\alpha)}}{\prod_{\alpha \in \Delta_{\text{odd}}^+} (1 + e^{-\alpha})^{\text{mult}(\alpha)}} = e^{-\rho} \sum_{w \in W} \varepsilon(w) w \left( \frac{e^\rho}{\prod_{i=1}^k (1 + e^{-\beta_i})} \right).$$

In this formula,  $\Delta_{\text{even}}^+$  (resp.  $\Delta_{\text{odd}}^+$ ) is the set of all even (resp. odd) and positive roots of the affine Lie superalgebra  $\widehat{\mathfrak{g}}$  and  $\text{mult}(\alpha)$  is the dimension of the root space  $\widehat{\mathfrak{g}}_\alpha$  and  $W$  is the Weyl group of  $\widehat{\mathfrak{g}}$  and  $\varepsilon(w)$  is the signature of  $w \in W$  and  $\rho$  is the Weyl vector of  $\widehat{\mathfrak{g}}$  and  $\{\beta_1, \dots, \beta_k\}$  is a maximal set of simple odd roots satisfying the inner product  $(\beta_i | \beta_j) = 0$  for all  $i, j = 1, \dots, k$  (see [10], [11], [14], [15] for complete explanation and details).

In [15], we can find that the denominator identity for  $\widehat{A}(1, 0)$  is

$$e^\rho R = \sum_{w \in W} \varepsilon(w) w \left( \frac{e^\rho}{1 + e^{-\alpha_2}} \right),$$

where

$$R = \prod_{n=1}^{\infty} \frac{(1 - e^{-n\delta})^2 (1 - e^{-(n-1)\delta - \alpha_1}) (1 - e^{-n\delta + \alpha_1})}{(1 + e^{-(n-1)\delta - \alpha_2}) (1 + e^{-n\delta + \alpha_2}) (1 + e^{-(n-1)\delta - \alpha_1 - \alpha_2}) (1 + e^{-n\delta + \alpha_1 + \alpha_2})},$$

$\alpha_1$  is an even simple root,  $\alpha_2$  is an odd simple root and  $\delta$  is a primitive imaginary root. The identity is rewritten as follows:

$$\begin{aligned} (1.9) \quad e^\rho \prod_{n=1}^{\infty} & \frac{(1 - e^{-n\delta})^2 (1 - e^{-(n-1)\delta - \alpha_1})}{(1 + e^{-(n-1)\delta - \alpha_2}) (1 + e^{-n\delta + \alpha_2})} \\ & \times \frac{(1 - e^{-n\delta + \alpha_1})}{(1 + e^{-(n-1)\delta - \alpha_1 - \alpha_2}) (1 + e^{-n\delta + \alpha_1 + \alpha_2})} \\ & = e^\rho \left( \sum_{n=-\infty}^{\infty} \frac{e^{-\delta n(n+1)} e^{n\alpha_1}}{1 + e^{-\alpha_2} e^{-n\delta}} - \sum_{n=-\infty}^{\infty} \frac{e^{-\delta n(n+1)} e^{-\alpha_1(-n+1)}}{1 + e^{-\alpha_1} e^{-\alpha_2} e^{-n\delta}} \right). \end{aligned}$$

By putting  $q := e^{-\delta}$ ,  $x := e^{-\alpha_1}$  and  $y := e^{-\alpha_2}$ , (1.9) is calculated as follows:

$$\begin{aligned} (1.10) \quad & \sum_{n=-\infty}^{\infty} \frac{x^{-n} q^{n(n+1)}}{1 + y q^n} - \sum_{n=-\infty}^{\infty} \frac{x^{n+1} q^{n(n+1)}}{1 + x y q^n} \\ & = \frac{(q, q, x, q/x)_\infty}{(-y, -q/y, -xy, -q/xy)_\infty}. \end{aligned}$$

By replacing  $q$  by  $q^2$  and substituting  $x = q$  and  $y = z$  in (1.10), we have

$$(1.11) \quad A(z; q) := \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{1 + zq^n} = \frac{(q, q)_{\infty}}{(-z, -z^{-1}q)_{\infty}},$$

where  $z \neq -q^n$  ( $n \in \mathbf{Z}$ ).

In [15], we can also find that the denominator identity for  $\widehat{B}(1, 1)$  is

$$e^{\rho} R = \sum_{w \in W} \varepsilon(w) w \left( \frac{e^{\rho}}{1 + e^{-\alpha_1}} \right),$$

where

$$R = \prod_{n=1}^{\infty} \frac{(1 - e^{-n\delta})^2 (1 - e^{-(n-1)\delta - \alpha_2}) (1 - e^{-n\delta + \alpha_2})}{(1 + e^{-(n-1)\delta - \alpha_1}) (1 + e^{-n\delta + \alpha_1}) (1 + e^{-(n-1)\delta - \alpha_1 - \alpha_2})} \\ \times \frac{(1 - e^{-(n-1)\delta - 2\alpha_1 - 2\alpha_2}) (1 - e^{-n\delta + 2\alpha_1 + 2\alpha_2})}{(1 + e^{-n\delta + (\alpha_1 + \alpha_2)}) (1 + e^{-(n-1)\delta - \alpha_1 - 2\alpha_2}) (1 + e^{-n\delta + \alpha_1 + 2\alpha_2})},$$

$\alpha_1$  is an odd simple root and  $\alpha_2$  is an even simple root. The identity is rewritten as follows:

$$(1.12) \quad e^{\rho} \prod_{n=1}^{\infty} \frac{(1 - e^{-n\delta})^2 (1 - e^{-(n-1)\delta - \alpha_2}) (1 - e^{-n\delta + \alpha_2})}{(1 + e^{-(n-1)\delta - \alpha_1}) (1 + e^{-n\delta + \alpha_1}) (1 + e^{-(n-1)\delta - \alpha_1 - \alpha_2})} \\ \times \frac{(1 - e^{-(n-1)\delta - 2\alpha_1 - 2\alpha_2}) (1 - e^{-n\delta + 2\alpha_1 + 2\alpha_2})}{(1 + e^{-(n-1)\delta - \alpha_1 - 2\alpha_2}) (1 + e^{-n\delta + \alpha_1 + 2\alpha_2}) (1 + e^{-n\delta + (\alpha_1 + \alpha_2)})} \\ = e^{\rho} \left( \sum_{n=-\infty}^{\infty} \frac{e^{-\delta(\frac{1}{2}n^2 + \frac{1}{2}n)} e^{-n(\alpha_1 + \alpha_2)}}{1 + e^{-\alpha_1} e^{-n\delta}} - \sum_{n=-\infty}^{\infty} \frac{e^{-\delta(\frac{1}{2}n^2 + \frac{1}{2}n)} e^{-n(\alpha_1 + \alpha_2)} e^{-\alpha_2}}{1 + e^{-\alpha_1} e^{-2\alpha_2} e^{-n\delta}} \right).$$

By putting  $q := e^{-\delta}$ ,  $x := e^{-\alpha_1}$  and  $y := e^{-\alpha_2}$ , (1.12) is calculated as follows:

$$(1.13) \quad \sum_{n=-\infty}^{\infty} \frac{q^{\frac{1}{2}n^2 + \frac{1}{2}n} (xy)^n}{1 + xq^n} - \sum_{n=-\infty}^{\infty} \frac{q^{\frac{1}{2}n^2 + \frac{1}{2}n} (xy)^{-n-1}}{1 + x^{-1}y^{-2}q^n} \\ = \frac{(q, q, y, q/y, x^2y^2, q/x^2y^2)_{\infty}}{(-x, -q/x, -xy, -q/xy, -xy^2, -q/xy^2)_{\infty}}.$$

By replacing  $q$  by  $q^2$  and substituting  $x = zq^{1/2}$  and  $y = z^{-1}q^{-1}$  in (1.13), we have

$$(1.14) \quad B(z; q) := \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/4}}{1 + zq^{n+\frac{1}{2}}} \\ = \frac{(q^{\frac{1}{2}}, q)_{\infty} (q^2, zq, z^{-1}q; q^2)_{\infty}}{(-zq^{\frac{1}{2}}, -z^{-1}q^{\frac{1}{2}})_{\infty}},$$

where  $z \neq -q^{n+\frac{1}{2}}$  ( $n \in \mathbf{Z}$ ).

2. THE PROOF OF THEOREM 1.1

*Proof.* We need the following two identities.

$$(2.1) \quad (q^2; q^2)_\infty (\omega(q) + \omega(-q)) = 2 \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{4n+2}},$$

$$(2.2) \quad (q^2; q^2)_\infty (\rho(q) + \rho(-q)) = 2 \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 + q^{4n+2} + q^{8n+4}}.$$

The identity (2.1) follows from (1.4) :

$$\begin{aligned} (q^2; q^2)_\infty (\omega(q) + \omega(-q)) &= \sum_{n=0}^{\infty} (-1)^n q^{3n(n+1)} \left( \frac{1 + q^{2n+1}}{1 - q^{2n+1}} + \frac{1 - q^{2n+1}}{1 + q^{2n+1}} \right) \\ &= \sum_{n=0}^{\infty} (-1)^n q^{3n(n+1)} \left( \frac{2(1 + q^{4n+2})}{1 - q^{4n+2}} \right) \\ &= 2 \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{4n+2}}. \end{aligned}$$

Similarly, the identity (2.2) follows from (1.5). Two identities (2.1) and (2.2) are rewritten as follows:

$$\begin{aligned} &(q^2; q^2)_\infty \left( \frac{\omega(q) + \omega(-q)}{2} \right) \\ &= \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{4n+2}} \times \frac{1 + q^{4n+2} + q^{8n+4}}{1 + q^{4n+2} + q^{8n+4}} \\ &= \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{12n+6}} + \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)+4n+2}}{1 - q^{12n+6}} \\ &\quad + \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)+8n+4}}{1 - q^{12n+6}} \\ &= \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{12n+6}} + \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)+4n+2}}{1 - q^{12n+6}} \\ &\quad + \sum_{n=-\infty}^{\infty} \frac{(-1)^{-n} q^{3(-n)(-n+1)+8(-n)+4}}{1 - q^{12(-n)+6}} \end{aligned}$$



$$\begin{aligned}
 &= \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{12n+6}} + \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)+4n+2}}{1 - q^{12n+6}} \\
 &\quad + \sum_{n=-\infty}^{\infty} \frac{(-1)^{-n} q^{3(-n)(-n+1)+8(-n)+4}}{-q^{-12n+6}(1 - q^{12n-6})} \\
 &= \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{12n+6}} + \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)+4n+2}}{1 - q^{12n+6}} \\
 &\quad - \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n-1)+4n-2}}{1 - q^{12n-6}} \\
 &= \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{12n+6}} + \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)+4n+2}}{1 - q^{12n+6}} \\
 &\quad - \sum_{n=-\infty}^{\infty} \frac{(-1)^{n+1} q^{3(n+1)n+4(n+1)-2}}{1 - q^{12(n+1)-6}} \\
 &= \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{12n+6}} + 2 \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)+4n+2}}{1 - q^{12n+6}}
 \end{aligned}$$

and

$$\begin{aligned}
 &(q^2; q^2)_{\infty} (\rho(q) + \rho(-q)) \\
 &= 2 \left( \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 + q^{4n+2} + q^{8n+4}} \times \frac{1 - q^{4n+2}}{1 - q^{4n+2}} \right) \\
 &= 2 \left( \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{12n+6}} - \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)+4n+2}}{1 - q^{12n+6}} \right),
 \end{aligned}$$

respectively. From these identities, the left hand side of Theorem 1.1 simplifies to

$$\begin{aligned}
 (2.3) \quad &(q^2; q^2)_{\infty} \left( (\rho(q) + \rho(-q)) + \left( \frac{\omega(q) + \omega(-q)}{2} \right) \right) \\
 &= 3 \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{12n+6}} \\
 &= 3B(-1; q^{12}).
 \end{aligned}$$

Replacing  $q$  by  $q^{12}$  and substituting  $z = -1$  in (1.14), we have

$$(2.4) \quad B(-1; q^{12}) = \frac{(q^{12}; q^{12})_{\infty} (-q^{12}, -q^{12}, q^{24}, q^{24})_{\infty}}{(q^6; q^{12})_{\infty}}.$$

By (2.3) and (2.4), the proof completes. □

This proof implies that the relation in Theorem 1.1 equals to the special case of the denominator identity for affine Lie superalgebra in the case  $\widehat{B}(1, 1)$ .

### 3. SOME IDENTITIES

We will prove some identities relating mock theta functions by using the denominator identity. First we see that the identity (1.1):

$$(q)_\infty (4\chi(q) - f(q)) = 3 \frac{(q^3; q^3)_\infty^2}{(-q^3; q^3)_\infty^2}$$

is derived from the denominator identity for  $\widehat{A}(1, 0)$ . From (1.2) and (1.3), we have

$$(3.1) \quad (q)_\infty (4\chi(q) - f(q)) = 6 \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)/2}}{1 + q^{3n}} = 6A(1; q^3).$$

Replacing  $q$  by  $q^3$  and substituting  $z = 1$  in (1.11), we have

$$(3.2) \quad A(1; q^3) = \frac{(q^3; q^3)_\infty^2}{2 (-q^3; q^3)_\infty^2}.$$

Hence, from (3.1) and (3.2), we can see that the identity (1.1) is a special case of the denominator identity for  $\widehat{A}(1, 0)$ .

Next, we prove

$$(3.3) \quad (q^2; q^2)_\infty \left( \rho(q) + \frac{1}{2} \omega(q) \right) = \frac{3}{2} \frac{(q^6; q^6)_\infty^2}{(q^3; q^6)_\infty^2},$$

which is obtained by G. N. Watson in [16]. From (1.4) and (1.5), we have

$$(q^2; q^2)_\infty \left( \rho(q) + \frac{1}{2} \omega(q) \right) = \frac{3}{2} \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{3n(n+1)}}{1 - q^{6n+3}} = \frac{3}{2} A(-q^3; q^6).$$

Replacing  $q$  by  $q^6$  and substituting  $z = -q^3$  in (1.11) which is type  $\widehat{A}(1, 0)$ , we have

$$A(-q^3; q^6) = \frac{(q^6; q^6)_\infty^2}{(q^3; q^6)_\infty^2}.$$

Hence we can prove (3.3).

Finally, we prove two identities relating mock theta functions of order 8 in [9]:

$$(3.4) \quad U_0(q) + 2U_1(q) = (-q; q^2)_\infty^3 (q^2; q^2)_\infty (q^2; q^4)_\infty,$$

$$(3.5) \quad V_1(q) - V_1(-q) = 2q(-q^2; q^2)_\infty (-q^4; q^4)_\infty^2 (q^8; q^8)_\infty.$$

From (1.6) and (1.7), we have

$$(3.6) \quad \begin{aligned} U_0(-q) + 2U_1(-q) &= 2 \frac{(q; q^2)_\infty}{(q^2; q^2)_\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{1 + q^{2n}} \\ &= 2 \frac{(q; q^2)_\infty}{(q^2; q^2)_\infty} B(q^{-1}; q^2). \end{aligned}$$

Replacing  $q$  by  $q^2$  and substituting  $z = q^{-1}$  in (1.14), we have

$$(3.7) \quad B(q^{-1}; q^2) = \frac{1}{2} \frac{(q)_\infty^2}{(-q^2; q^2)_\infty}.$$

From (3.6) and (3.7), we prove (3.4) by replacing  $q$  by  $-q$ . Similarly, from (1.8), we have

$$\begin{aligned} V_1(q) - V_1(-q) &= 2q \frac{(-q^4; q^4)_\infty}{(q^4; q^4)_\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{4n(n+1)}}{1 - q^{8n+2}} \\ &= 2q \frac{(-q^4; q^4)_\infty}{(q^4; q^4)_\infty} A(-q^2; q^8). \end{aligned}$$

Replacing  $q$  by  $q^8$  and substituting  $z = -q^2$  in (1.11), we have

$$A(-q^2; q^8) = \frac{(q^8; q^8)_\infty^2}{(q^2; q^8)_\infty (q^6; q^8)_\infty} = \frac{(q^8; q^8)_\infty^2}{(q^2; q^4)_\infty}.$$

Hence, we prove (3.5).

*Remark.* The denominator identities for affine Lie superalgebras in the case  $\widehat{A}(1, 0)$  and  $\widehat{B}(1, 1)$  are related to Ramanujan's summation formula  ${}_1\psi_1$  series and Bailey's summation formula of a very-well-poised-balanced  ${}_6\psi_6$  series, respectively.

#### 4. APPENDIX

Here is an additional remark. We shall show that the identity in Theorem 1.1 can be seen as a relation between theta constants. From (3.3), the identity in Theorem 1.1 becomes

$$(4.1) \quad j(-q^3, q^{12})^2 + j(q^3, q^{12})^2 = 2 j(-q^6, q^{24}) j(-q^{12}, q^{24}).$$

Now, let  $v$  be a complex number and  $\tau$  be a complex number whose imaginary part is positive. Theta functions are defined by

$$\vartheta_3(v|\tau) = \vartheta_{00}(v, \tau) := \sum_{n=-\infty}^{\infty} e\left(\frac{1}{2}n^2\tau + nv\right),$$

$$\vartheta_4(v|\tau) = \vartheta_{01}(v, \tau) := \sum_{n=-\infty}^{\infty} e\left(\frac{1}{2}n^2\tau + n\left(v + \frac{1}{2}\right)\right),$$

where  $e(x) := e^{2\pi ix}$  [12]. Putting  $z = e^{v\pi i}$  and  $q = e^{\tau\pi i}$ , theta functions can be rewritten as product formulas:

$$\vartheta_{00}(v, \tau) = j(-z^2q, q^2), \quad \vartheta_{01}(v, \tau) = j(z^2q, q^2).$$

In the following relation[7, §13.23.(Transformations of the second order)]

$$(4.2) \quad \vartheta_{00}(v, \tau)^2 + \vartheta_{01}(v, \tau)^2 = 2 \vartheta_{00}(0, 2\tau) \vartheta_{00}(2v, 2\tau),$$

replacing  $\tau$  by  $6\tau$  and  $v$  by  $\frac{3}{2}\tau$  and using  $j(x, q) = j(q/x, q)$  yields (4.1). Hence, we can see that the identity in Theorem 1.1 is also the special case of (4.2).

## 5. CONCLUSION

In [15, p195], M. Wakimoto states that “The denominator identities for the simplest affine Lie superalgebras are Ramanujan’s mock theta functions. In this sense, denominator identities of affine Lie superalgebras provide a general class of mock theta functions.” However, the specific instance for 3rd or 8th order mock theta functions is not given there. We have found that some identities satisfied by mock theta functions are special cases of the denominator identity. It is plausible that these connections will assist in giving the true meaning of mock theta functions.

## Acknowledgement

The author would like to greatly thank Professor M. Ohtsuki for his kind help, Professor M. Ito for giving some pieces of advice and Professor M. Wakimoto for sending her his paper.

## REFERENCES

- [1] G. E. Andrews , *q-series : Their Development and Application in Analysis, Number Theory, Combinatorics, Physics, and Computer Algebra*, CBMS Regional Conference Lecture Series 66, Amer. Math. Soc., Providence, R. I. (1986).
- [2] G. E. Andrews and F. G. Garvan, *Ramanujan’s “lost” notebook. VI: The mock theta conjectures*, Adv. Math. 73 (1989), 242–255.
- [3] G. E. Andrews and D. Hickerson, *Ramanujan’s “lost” notebook. VII: The sixth order mock theta functions*, Adv. Math. 89 (1991), 60–105.
- [4] K. Bringmann and K. Ono, *Lifting cusp forms to Maass forms with an application to partitions*, Proc. Natl. Acad. Sci. USA 104 (2007), no. 10, 3725–3731.
- [5] Y. -S. Choi , *Tenth order mock theta functions in Ramanujan’s lost notebook*, Invent. Math. 136 (1999), 497–569.
- [6] Y. -S. Choi , *Tenth order mock theta functions in Ramanujan’s lost notebook II*, Adv. Math. 156 (2000), 180–285.

- [7] A. Erdelyi, W. Magnus, F. Oberhettinger and F. G. Tricomi, *Higher Transcendental Functions, Vol. II* [McGraw-Hill, New York, 1953; MR 15, 419] by Math. Comp. 41 (1983), no. 164, 778. 33-XX.
- [8] G. Gasper and M. Rahman, *Basic Hypergeometric Series, Second Edition*, Cambridge University Press, Cambridge (2004).
- [9] B. Gordon and R. J. McIntosh, *Some eighth order mock theta functions*, J. London Math. Soc.(2) 62 (2000), 321-335.
- [10] V. G. Kac and M. Wakimoto, *Integrable highest weight modules over affine superalgebras and number theory*, in “Lie Theory and Geometry  $\sim$  in honor of Bertram Kostant” ed. by J.-L. Brylinski, R. Brylinski, V. Guillemin and V. Kac, Progress in Mathematics Vol.123, Birkhäuser, 1994, 415-456.
- [11] V. G. Kac and M. Wakimoto, *Integrable highest weight modules over affine superalgebras and Appell’s function*, Commun. Math. Phys. 215 (2001), 631-682.
- [12] D. Mumford, *Tata Lectures on Theta. I*. Progress in Mathematics 28, Birkhäuser, Boston-Basel-Stuttgart, (1983).
- [13] Y. Sanada, *A new identity relating mock theta functions with distinct orders*, Tokyo J. Math. 29 (2006), no. 1, 199–207.
- [14] M. Wakimoto, *Representation theory of affine superalgebras at the critical level*, Documenta Mathematica, Extra Volume ICM 1998, Vol.II (1998), 605-614.
- [15] M. Wakimoto, *A topic related to infinite-dimensional Lie superalgebras*, Cubo Mat. Educ.5 (2003), 167–196.
- [16] G. N. Watson, *The final problem: An account of the mock theta functions*, J. London Math. Soc.11 (1936), 55–80.

YUKARI SANADA  
 DEPARTMENT OF MATHEMATICS,  
 TSUDA COLLEGE  
 2-1-1 TSUDA-MACHI,  
 KODAIRA-SHI, TOKYO 187-8577,  
 JAPAN

*e-mail address:* sanada@tsuda.ac.jp

(Received May 18, 2007)